NATFW NSLP RED TRANSITIONS/CONDITIONS/ACTIONS =
NSIS RESPONDER (NR/NI+) Not mentioned in draft — Transition is a proposed solution
GREEN TRANSITIONS/CONDITIONS/ACTIONS =

Specified by draft — but unsure if it ever can occur

Init variables
Retry_counter(REA)=0

Static variables:
Max_Retries(REA) = 10

(rx_CREATE) && (CREATE(LIFETIME?)==0) (ta_NOTIFY) /

UCT*/ && (CHECK_AA)) || tx_NOTIFY;
Initialize variables  (TIMEOUT.STATE(Create)) || (tg_TEARDOWN) /
\ Session.clear();PckFilter.clear(); s .
\‘ Send Info to Appl.; \ \
/" (rx_CREATE) && |(CHECK_AA)/ S

tx_RESPONSE(ERROR, Create);

(rx_CREATE) && (CHECK_AA) /
tx_RESPONSE(SUCCESS, Create);
Start.STATE_TIMER(Create);
Session.create();
PckFilter.create();

Send Info to Appl.

\ " (tg_REA) /
tx_REA;
‘ retry_counter(REA)=0;

(TIMEOUT.STATE(Create)) /
Start.STATE_TIMER(Response);

Send info to appl,;

AN
\

(Retry_counter(REA)>‘Max_Retries(REA)) Il
rx_RESPONSE(ERROR, Rea)) /
Send info to Appl.;

TRIGGERED
CREATE
PENDING

WAITRESP -

REA
PENDING

-

(TIMEOUT.STATE(Response) ||
Retry_counter(REA)++; AN )
If (retry_counter(REA)<=Max_Retry(REA)) e
{Start.STATE_TIMER(Response); tx REA}  (IX_RESPONSE(SUCCESS, Rea)) /
Stop.STATE_TIMER(Response);

Start.STATE_TIMER(Create);

///

(rx_NOTIFY) && (CHECK_AA) /

SESSION
ESTA-
BLISHED

TIMERS:
TIMEOUT_REFRESH: Refresh interval timer expiration
TIMEOUT_STATE: State lifetime timer expiration

PROCEDURES:

CHECK_AA, CHECK_LP: Checks AA and LP

Process Query(): Processes a Query message (= draft)
Process Event(): Analyze event and behave based on event

Triggers:

Tg_EVENT: an external trigger for an event

Tg_REA: an external trigger for requesting REA
Tg_TRIGGER: an external trigger for sending TRIGGER msg

UCT* — Application triggered for forking process
Process Event();

(rx_CREATE) && |(CHECK_AA) /
tx_RESPONSE(ERROR, Create);

(rx_CREATE) && (CREATE(LIFETIME?)>0)
&& (CHECK_AA))/
if (CREATE(Source?)!=NF) {
Stop.REFRESH_TIMER(Trigger);}
tx_RESPONSE(SUCCESS, Create);
— Start. STATE_TIMER(Create);

~(IX_QUERY) && (CHECK_AA) /
Process Query();
tx_RESPONSE(,Query);

(TIMEOUT.REFRESH(Trigger))
tx_TRIGGER;
Start.REFRESH_TIMER(Trigger);

‘(rx_CREATE) && (CHECK_AA) /
tx_RESPONSE(SUCCESS, Create);
—Session.create(); PckFilter.create();
Send info to appl.
Start.STATE_TIMER(Create);

Start.REFRESH_TIMER(Trigger); Packet filter needed here?
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